MISSISSIPPI DEPARTMENT OF FINANCE AND ADMINISTRATION OFFICE OF PURCHASING AND TRAVEL JACKSON

NON-MAGIC USERS - STATE CONTRACT NO. 5-475-31955-14 MAGIC USERS - STATE CONTRACT NO. 1130-14-C-SWCT-00419*

CONTRACTOR: First Quality Products, Inc. DATE: February 28, 2014

ITEMS: Adult and Children's Disposable EFFECTIVE: March 1, 2014

Briefs and Related Items through

February 28, 2015

A. <u>AUTHORITY</u>

This certifies that a contract has been executed between the Department of Finance and Administration, Office of Purchasing and Travel for the State of Mississippi and the herein designated Contractor pursuant to Section 31-7-7, Mississippi Code of 1972, Annotated, for items specified herein.

B. EFFECT

During the term of this contract no purchase of adult and children's disposable briefs and related items manufactured and/or distributed by the above-designated Contractor shall be made by state agencies at a price in excess of that established by the prices set out in this regulation (See Section "F").

Commodities purchased under provisions of this contract from the above Contractor or his authorized distributors shall be exempt from competitive bid requirements otherwise applying to purchases by the state agencies, counties, municipalities and other political subdivisions.

C. PURCHASE ORDERS

Purchase orders prepared by the various state agencies shall show the state contract number on the P. O. in the designated space, quantity, description of the items and prices, also shipping or delivery instructions, if any.

D. PAYMENT

The supplier shall be paid by the ordering agency upon submission of properly certified invoices or vouchers for articles or services delivered and accepted, less deductions if any, as provided.

Contract No. <u>1130-14-C-SWCT-00419*</u> Page 2

E. ORDERING

Purchasers shall order in such quantities as required. Purchase orders are to be directed to address of Contractor or Distributors shown in Section "J". The Bureau of Financial Control of the State shall not approve any account nor order and direct payment of any account for the purchase of any commodity covered by this contract certification when the purchase price is in excess of the maximum price fixed in this purchasing regulation.

F. PRICES

Prices for the new period are set forth on the following price list.

Entities making purchases over \$50,000 may consider obtaining two competitive quotes from the authorized dealers' list on this manufacturer's contract. If this manufacturer does not have a dealers' list, the manufacturer should be prepared to submit a quote.

G. TRANSPORTATION

F.O.B. destination, freight prepaid

H. POLITICAL SUBDIVISIONS - COUNTIES, MUNICIPALITIES, SCHOOLS, ETC.

This contract provides that the provisions thereof may be available to any county, municipality, school board or other local public agency or authority of the State of Mississippi which may elect to purchase at the prices, terms and conditions of sale specified therein. Any such agency or political subdivisions electing to purchase as herein provided shall write the following on the face of the purchase order:

"P. O. issued pursuant to provisions of Mississippi State Contract No. 5-475-31955-14."

I. TERMS

Net Forty-five (45) days

J. CONTRACTOR

Please place all orders under this agreement with the following:

A list of authorized dealers is included with this notice.



Published Price List

Dec-13

| | | | | Dec-13 |
|---|--|----------------------|------------------------|--------------------|
| DESCRIPTION | PACKAGING | Product Code | PART # | UNIFORM |
| Cuties Baby Diapers – Newborn | 4 Bags of 42 (168 ct) | BABY | CR0001 | \$29.00 |
| Cuties Baby Diapers – Size 1 | 4 Bags of 50 (200 ct) | BABY | CR1001 | \$29.00 |
| Cuties Baby Diapers – Size 2 | 4 Bags of 42 (168 ct) | BABY | CR2001 | \$29.00 |
| Cuties Baby Diapers – Size 3 | 4 Bags of 36 (144 ct) | BABY | CR3001 | \$29.00 |
| Cuties Baby Diapers – Size 4 | 4 Bags of 31 (124 ct) | BABY BABY | CR4001 | \$29.00 |
| Cuties Baby Diapers – Size 5 | 4 Bags of 27 (108 ct) 4 Bags of 23 (92 ct) | BABY | CR5001 CR6001 | \$29.00 \$29.00 |
| Cuties Baby Diapers – Size 6 Cutie Pants Training Pants – Boy 2T-3T | 4 Bags of 26 (104 ct) | BABY | CR7007 | \$37.20 |
| Cutie Pants Training Pants – Boy 21-31 Cutie Pants Training Pants – Girl 2T-3T | 4 Bags of 26 (104 ct) | BABY | CR7007 | \$37.20 |
| Cutie Pants Training Pants – Boy 3T-4T | 4 Bags of 23 (92ct) | BABY | CR8007 | \$37.20 |
| Cutie Pants Training Pants – Girl 3T-4T | 4 Bags of 23 (92ct) | BABY | CR8008 | \$37.20 |
| Cutie Pants Training Pants – Boy 4T-5T | 4 Bags of 19 (76ct) | BABY | CR9007 | \$37.20 |
| Cutie Pants Training Pants – Girl 4T-5T | 4 Bags of 19 (76ct) | BABY | CR9008 | \$37.20 |
| Cuties Quilted Baby Wipes Soft Pack – Sensitive/Unscented | 12 Packs of 72 (864ct) | BABY | CR-16413/1 | \$22.60 |
| Cuties Soft Pack Wipe - Quilted Texture - Scented | 12 Packs of 72 (864ct) | BABY | CR-16513/1 | \$22.60 |
| Cuties Quilted Baby Wipes– Sensitive | 12 Tubs of 80 (960) | BABY | CR-340 | \$26.00 |
| Cuties Quilted Baby Wipes- Lavender Scented | 12 Tubs of 80 (960) | BABY | CR-350 | \$26.00 |
| Sleep Overs Youth Pants – Small/Medium | 4 Bags of 15 (60 ct) | BABY | SLP05301 | \$31.50 |
| Sleep Overs Youth Pants – Large/X-Large | 4 Bags of 12 (48 ct) | BABY | SLP05302 | \$31.50 |
| Sleep Overs Youth Pants – X-Large | 4 Bags of 22 (88 ct) | BABY | SLP05303 | \$57.75 |
| First Quality IB Brief - Medium | 6 Bags of 16 (96) 4 Bags of 18 (72) | BRIEF BRIEF | IB-012/1 IB-013/1 | \$32.00 \$32.00 |
| First Quality IB Brief - Large First Quality IB Brief - X-Large | 4 Bags of 16 (72) | BRIEF | IB-013/1 IB-014/1 | \$32.00 |
| Prevail Extended Use Brief – Medium | 6 Bags of 16 (96) | BRIEF | NTB-012/1 | \$32.00 \$54.16 |
| Prevail Extended Use Brief – Medidini Prevail Extended Use Brief – Large | 4 Bags of 18 (72) | BRIEF | NTB-012/1 | \$54.43 |
| Prevail Extended Use Brief – Large | 4 Bags of 15 (60) | BRIEF | NTB-013/1 | \$54.16 |
| NU-FIT® by First Quality® Brief – Medium | 6 Bags of 16 (96) | BRIEF | NU-012/1 | \$26.00 |
| NU-FIT® by First Quality® Brief – Large | 4 Bags of 18 (72) | BRIEF | NU-013/1 | \$26.00 |
| NU-FIT® by First Quality® Brief – X-Large | 4 Bags of 15 (60) | BRIEF | NU-014/1 | \$26.00 |
| Per-Fit Brief – Medium | 6 Bags of 16 (96) | BRIEF | PF-012/1 | \$29.00 |
| Per-Fit Brief – Large | 4 Bags of 18 (72) | BRIEF | PF-013/1 | \$29.00 |
| Per-Fit Brief – X-Large | 4 Bags of 15 (60) | BRIEF | PF-014/1 | \$29.00 |
| Per-Fit Brief – Regular | 4 Bags of 20 (80) | BRIEF | PF-016/1 | \$29.00 |
| Prevail Brief – Small | 6 Bags of 16 (96 ct) | BRIEF | PV-011 | \$29.20 |
| Prevail Brief – Medium | 4 Bags of 20 (80) | BRIEF | PV-012/1 | \$34.00 |
| Prevail Brief – Large | 4 Bags of 16 (64) | BRIEF | PV-013/1 | \$34.00 |
| Prevail Brief – Youth | 6 Bags of 16 (96 ct) | BRIEF BRIEF | PV-015 | \$29.20 |
| Prevail Bariatric A Prevail Bariatric B | 4 Bags of 12 (48) 4 Bags of 10 (40 ct) | BRIEF | PV-017 PV-094 | \$32.00 \$45.00 |
| Breezers by Prevail Brief – Medium | 6 Bags of 16 (96 ct) | BRIEF | PVB-012/2 | \$32.00 |
| Breezers by Prevail Brief – Large | 4 Bags of 18 (72) | BRIEF | PVB-013/2 | \$32.00 |
| Breezers by Prevail Brief – X-Large | 4 Bags of 15 (60) | BRIEF | PVB-014/1 | \$32.00 |
| Breezers by Prevail Brief – Regular | 4 Bags of 20 (80) | BRIEF | PVB-016/1 | \$32.00 |
| Prevail Comfort Supreme StretchFit – Size A | 6 Bags of 16 (96ct) | BRIEF | SF-A | \$38.64 |
| Prevail Comfort Supreme StretchFit – Size B | 6 Bags of 16 (96ct) | BRIEF | SF-B | \$38.64 |
| Prevail Simply StretchFit – Size A | 6 Bags of 16 (96ct) | BRIEF | SSF-A | \$35.64 |
| Prevail Simply StretchFit – Size B | 6 Bags of 16 (96ct) | BRIEF | SSF-B | \$35.64 |
| Maxi with Flexi-Wings Regular | 12 Bags of 18 (216) | FEM CARE | FSH03001/1 | \$24.30 |
| Maxi with Flexi-Wings Long Super | 12 Bags of 16 (192) | FEM CARE | FSH03002/1 | \$24.30 |
| Fresh Times Maxi with Wings - Overnight | 12 Bags of 14 (168) | FEM CARE | FSH03003/1 | \$24.30 |
| Maxi Multichannel Regular | 12 Bags of 24 (288) | FEM CARE | FSH03004/1 | \$24.30 |
| Fresh Times Multi Channel Maxi - Super | 12 Bags of 24 (288) 12 Bags of 24 (288) | FEM CARE FEM CARE | FSH03005/1 | \$24.30 |
| Multi Channel Deo. Maxi Freshtimes Pantiliners Everyday Long Unscented | 12 Bags of 40 (480) | FEM CARE | FSH03007/1 FSH03705 | \$24.30 \$24.30 |
| Multi Channel Super Maxi | 6 Bags of 48 (288) | FEM CARE | FSH05001 | \$23.63 |
| Multi Channel Regular Maxi | 6 Bags of 48 (288) | FEM CARE | FSH05002/1 | \$23.63 |
| Fresh Times Ultra Thin with Wings - Regular | 12 Bags of 18 (216) | FEM CARE | FSH05501/1 | \$24.30 |
| Fresh Times Ultra Thin with Wings - Long Super | 12 Bags of 16 (192) | FEM CARE | FSH05502/1 | \$24.30 |
| Ultrathin with Flexi-Wings Overnight | 12 Bags of 14 (168)) | FEM CARE | FSH05503/1 | \$24.30 |
| Prevail Male Guard | 9 Bags 14 (126) | GUARDS | PV-811 | \$22.60 |
| Prevail Male Guard | 4 Bags of 52 (208 ct) | GUARDS | PV-812/1 | \$34.00 |
| Prevail Bladder Control Pad – Moderate | 9 Bags of 20 (180) | PAD | BC-012 | \$22.60 |
| Prevail Bladder Control Pad – Moderate Long | 9 Bags of 16 (144) | PAD | BC-013 | \$22.60 |
| Prevail Bladder Control Pad – Mod. Long- Jumbo Pack | 4 Bags of 54 (216 ct) | PAD | PV-914/1 | \$31.50 |
| Prevail Bladder Control Pad – Max. Long- Jumbo Pack | 4 Bags of 39 (156 ct) | PAD | PV-915/1 | \$31.50 |
| Prevail Bladder Control Pad – Maximum Prevail Extra Plus Bladder Control Pads | 4 Bags of 48 (192 ct) 4 Bags of 72 (288 ct) | PAD PAD | PV-916/1 PV-918 | \$31.50 \$34.00 |
| Prevail Bladder Control Pad - Extra Coverage | 9 Bags of 12 (108 ct) | PAD | PV-918 PV-921 | \$34.00 |
| Prevail Ultimate Pad | 4 Bags of 36 (144 ct) | PAD | PV-921 PV-923 | \$34.00 |
| Prevail Bladder Control Pad – Ultimate | 4 Bags of 33 (132 ct) | PAD | PV-923/1 | \$31.50 |
| Prevail Bladder Control Pad - Ultra Thin | 6 Bags of 30 (180 ct) | PAD | PV-930 | \$20.00 |
| Prevail Curve Bladder Control Pad – Ultimate | 4 Bags of 27 (108 ct) | PAD | PBC-923 | \$31.50 |
| Prevail Pant Liner – Small | 4 Bags of 52 (208) | PANTILNR | PL-100/1 | \$37.92 |
| Prevail Pant Liner – Large Plus | 6 Bags of 16 (96) | PANTILNR | PL-113/1 | \$27.00 |
| Prevail Pant Liner – Extended Use | 6 Bags of 16 (96) | PANTILNR | PL-115 | \$45.00 |
| Prevail Pantiliner Extra Coverage | 12 Bags of 24 (288 ct) | PANTILNR | PV-924 | \$22.60 |
| Prevail Pantiliner - Very Light | 12 Bags of 26 (312 ct) | PANTILNR | PV-926 | \$22.60 |
| Mesh Pants – 2 X-Large | Each | PURCH | MESH2XL | \$0.90 |



Published Price List

Dec-13

| | | | | Dec-13 |
|---|--|--------------|--------------------|---------------|
| DESCRIPTION | PACKAGING | Product Code | PART # | UNIFORM |
| Mesh Pants – Large | Each | PURCH | MESHLG | \$0.79 |
| Mesh Pants – Medium | Each | PURCH | MESHMD | \$0.75 |
| Mesh Pants – X-Large | Each | PURCH | MESHXL | \$0.84 |
| Cotton Snap Pants – 2 X-Large | Each | PURCH | SNAP2XL | \$6.14 |
| Cotton Snap Pants – 3 X-Large | Each | PURCH | SNAP3XL | \$6.36 |
| Cotton Snap Pants – 4 X-Large | Each | PURCH | SNAP4XL | \$8.50 |
| | | | | · |
| Cotton Snap Pants – Large | Each | PURCH | SNAPLG | \$4.61 |
| | Fb | DUDGU | CNIADNAD | 44.00 |
| Cotton Snap Pants – Medium | Each | PURCH | SNAPMD | \$4.38 |
| Snap Pants - Small | Each | PURCH | SNAPSM | \$4.13 |
| Cotton Snap Pants – X-Large | Each | PURCH | SNAPXL | \$4.95 |
| | | | | |
| Prevail Belted Shield – Extra Absorbency | 4 Bags of 30 (120) | UNDERGARMENT | PV-324 | \$34.00 |
| Prevail Premium Super Absorbent Underpad – X-Large | 4 Bags of 10 (40) | UNDERPD | PV-410 | \$17.00 |
| Prevail Fluff Underpad – Large | 4 Bags of 18 (72) | UNDERPD | PV-418 | \$17.00 |
| | | UNDERPD | | |
| Prevail Nexus Underpad, 30" x 36" | 4 Bags of 10 (40) | ULTRA | PVN-410 | \$52.00 |
| Prevail Air Permeable Super Absorbent Underpad - Clear Bag | 6 Bags of 8 (48) | UNDERPD | UP-048 | \$36.00 |
| Prevail Air Permeable Super Absorbent Underpad - Clear Bag | 6 Bags of 12 (72) | UNDERPD | UP-072 | \$44.00 |
| Prevail Super Absorbent Underpad - Printed Bag | 10 Bags of 10 (100) | UNDERPD | UP-100 | \$27.00 |
| Prevail Fluff Underpad - Clear Bag | 8 Bags of 15 (120ct) | UNDERPD | UP-120 | \$18.00 |
| Prevail Fluff Underpad - Printed Bag | 10 Bags of 15 (150) | UNDERPD | UP-150 | \$22.00 |
| Prevail Super Absorbent Underpad - Clear Bag | 4 Bags of 25 (100) | UNDERPD | UP-425 | \$37.30 |
| Prevail® Super Absorbent Underpad, 30" x 36" | 6 Bags of 20 (120ct) | UNDERPD | UP-620 | \$44.76 |
| Prevail Underpad, 30x30 | 12 Bags of 10 (120) | UNDERPD | UPS-120 | \$32.40 |
| Prevail Boxers for Men - Medium | 4 Bags of 12 (48ct) | UNDERWEAR | PBM-512 | \$36.00 |
| Prevail Boxers for Men - Large/X-Large | 4 Bags of 10 (40 ct) | | | |
| <u> </u> | | UNDERWEAR | PBM-513 | \$36.00 |
| Per-Fit Underwear – Medium | 4 Bags of 20 (80 ct) | UNDERWEAR | PF-512 | \$28.00 |
| Per-Fit Underwear – Large | 4 Bags of 18 (72 ct) | UNDERWEAR | PF-513 | \$28.00 |
| Per-Fit Underwear – X-Large | 4 Bags of 14 (56 ct) | UNDERWEAR | PF-514 | \$28.00 |
| Prevail SmoothFit Underwear - Small/Medium | 4 Bags of 12 (48) | UNDERWEAR | PSF-512 | \$36.00 |
| Prevail SmoothFit Underwear - Large/X-Large | 4 Bags of 10 (40) | UNDERWEAR | PSF-513 | \$36.00 |
| Prevail SmoothFit Underwear - Medium | 4 Bags of 20 (80 ct) | UNDERWEAR | PSM-512 | \$36.00 |
| Prevail SmoothFit Underwear - Large | 4 Bags of 18 (72 ct) | UNDERWEAR | PSM-513 | \$36.00 |
| Prevail For Men - Small/Medium | 4 Bags of 18 (72 ct) | UNDERWEAR | PUM-512 | \$36.00 |
| Prevail For Men - Large/X-Large | 4 Bags of 16 (64 ct) | UNDERWEAR | PUM-513 | \$36.00 |
| Prevail Extra Underwear – Youth/Small | 4 Bags of 22 (88) | UNDERWEAR | PV-511 | \$33.00 |
| Prevail Extra Underwear – Medium | 4 Bags of 20 (80) | UNDERWEAR | PV-512 | \$33.00 |
| Prevail Extra Underwear – Large | 4 Bags of 18 (72) | UNDERWEAR | PV-513 | \$33.00 |
| Prevail Extra Underwear – X-Large | 4 Bags of 14 (56) | UNDERWEAR | PV-514 | \$33.00 |
| Prevail Super Plus Underwear – 2X-Large | 4 Bags of 12 (48) | UNDERWEAR | PV-517 | \$33.00 |
| Prevail Full Coverage Prot Und Md Sup 4/20 | 4 Bags of 20 (80) | UNDERWEAR | PVF-512 | \$33.00 |
| Prevail Full Coverage Prot Und Lg Sup 4/18 | 4 Bags of 18 (72) | UNDERWEAR | PVF-513 | \$33.00 |
| Prevail Full Coverage Prot Und XI Sup 4/14 | 4 Bags of 14 (56) | UNDERWEAR | PVF-514 | \$33.00 |
| Prevail Adjustable Underwear – Small/Medium | 4 Bags of 18 (72) | UNDERWEAR | PVR-512 | \$36.00 |
| Prevail Adjustable Underwear – Large | 4 Bags of 16 (72) | UNDERWEAR | PVR-513 | \$36.00 |
| Prevail Super Plus Underwear – Small/Medium | 4 Bags of 18 (72) | UNDERWEAR | PVS-513 | \$33.00 |
| Prevail Super Plus Underwear – Small/Medium Prevail Super Plus Underwear – Large | 4 Bags of 18 (72) 4 Bags of 16 (64) | UNDERWEAR | PVS-512 PVS-513 | \$33.00 |
| | | UNDERWEAR | | |
| Prevail Super Plus Underwear – X-Large | 4 Bags of 14 (56) | | PVS-514 | \$33.00 |
| Prevail For Women Classic - Small/Medium | 4 Bags of 20 (80ct) | UNDERWEAR | PWC-512 | \$33.00 |
| Prevail For Women Classic - Large | 4 Bags of 18 (72 ct) | UNDERWEAR | PWC-513 | \$33.00 |
| Prevail For Women Classic - X-Large | 4 Bags of 16 (64 ct) | UNDERWEAR | PWC-514 | \$33.00 |
| First Quality Dry Washcloth | 16 packs of 48 (768) | WIPE | DW-501/1 | \$22.00 |
| Prevail Washcloths | 12 Tubs of 48 (576) | WIPE | WW-701/1 | \$26.10 |
| Prevail Washcloths - Institutional | 6 Tubs of 96 (576) | WIPE | WW-703/1 | \$26.10 |
| Prevail Washcloths - Refill | 12 Packs of 48 (576) | WIPE | WW-707/1 | \$24.19 |
| Prevail Soft Pack with Press-N-Pull Lid | 12 Packs of 48 (576) | WIPE | WW-710 | \$25.10 |
| Washcloths - Institutional Refills | 6 Packs of 96 (576) | WIPE | WW-713/1 | \$24.19 |
| Prevail Soft Pack with Press-N-Pull Lid - Institutional | 6 Packs of 96 (576) | WIPE | WW-720 | \$23.00 |
| Prevail Fragrance Free Soft Pack with Press-N-Pull Lid | 12 Packs of 48 (576) | WIPE | WW-810 | \$25.10 |
| Prevail Premium Washcloth | 6 Tubs of 96 (576) | WIPE | WW-901 | \$28.10 |
| Prevail Premium Washcloth Refill | 6 Packs of 96 (576) | WIPE | WW-902 | \$26.10 |
| Prevail Premium Soft Pack with Press-N-Pull Lid | 12 Packs of 48 (576) | WIPE | WW-910 | \$27.00 |
| | 12 1 22.10 01 10 (070) | = | /10 | #27.00 |
| L | | 1 | | l |

First Quality Products, Inc. Authorized Distributors

Gulf South Medical Supply Contact: Lori Lumpkin 173 E. Market Ridge Ridgeland, MS 39157 Phone: (904) 380-4537 llumpkin@pssd.com

First Choice Medical Supply Contact: Shane Holloway

PO Box 2538

Ridgeland, MS 39158 Phone: 800-809-4556

Shane.Holloway@fcms.com

McKesson Medical Supply

Contact: Sue Foster 8121 10th Ave. North Golden Valley, MN 55427 Phone: 800-328-8111,

Marsha.Chevalier@redline.mckhboc.com

Supreme Medical Brenda Bryant, Bid Coordinator Po Box 850247 Mobile, AL 36685 Phone: 800-461-1370, ext. 308

Fax 800-461-1277

EMail NancyK@SupremeMedical.com

Turenne PharMedco Contact: Ronnie Rutland 355 Industrial Park Blvd. Montgomery, AL 36117 Phone: 601-942-5200

Ronnie.rutland@pmcoteam.com

Invacare Supply Group 9 Industrial Road Milford, MA 01757 Phone: 508-634-5133 Pkaplan@invacare.com

Kelly Hart Vice President of Extended Care MMS - A Medical Supply Company 13400 Lakefront Drive, Earth City, MO 63045

Phone: 314-291-2900 x3501 kelly.hart@mmsmedical.com http://www.mmsmedical.com/

J & B Medical Julian Shaya - VP 50496 W. Pontiac Trail Wixom, MI 48393 Phone: 248-896-6205

jshaya@jandbmedical.com

Grove Medical, Inc. 1089 Park West Blvd. Greenville, SC 29611 PH: 864-269-0283

FX: 864-220-1745

Contact: David H. York - Director of Purchasing